2813 circles in a square

- A
3

=< ><(
== )
S0c0
= 46» <

(=< )>
< > 4@»

(< > 49
=< P> 46»

<
o
<

< P> P>
< Heu

< (=<
(S
»49»4@»
< Heu
»16»16»1
eSes0.
DA

>

>
>

(== )
<)
<( > > 49» <
(=)
G
)

(=< )>
<P~

<( > }> <e
=< > 46

< <
< e.

< > 16’ <e> <
< (o (=

BE0e0e0,
(=< > 49. 46. <

(= ()

e

4@» <
=)
>
(== )
2020
= 49» <

‘
(=

—C P> <e>
820,

So:

o

o
o4

(=
SO
:

:

)

=< <

eee
Y

- \s

858
os2

EEEA
>

>
>

A
>
>

A
e
S0E0;

< >

eSoe

<((>x P<(
»49»
(<)
P> >
)
>

S

>
(S
2089
4

g

>
>

eSes
Sese
= =

‘
»46»
SE0!
eSes0.

»4@»4@»4
S
< = > >
eEes0c0.
S08020

> < >

>

< > P>
=00
Seea0a0,
>

>
>

>
>
>

S028
oeos
—< < >—( <
SSes0.
< > <e> <e>
(=) 49. <
< > 16’ <e> <
(o (o (=
BE0e0e0,
(=< > 49. 46. <
(= ()
eS8
= <e>
(S
< (< (<)
< (o (=
202028
> = 46

>
>

>
ese
eese
P> P>

4@

o
o4

;

20,
=
;

=)
=8

)

>

2059
es0c0,

Be0a0ee
>

o
o4

)

&)
o

)~

o
o4

)~

e ‘e

)

)~

A
G

>
P>

)

ee

P>

=
e
=
< <
< > <6> 16’
S
< »46»4 P>
<

>
)
= 46»
>

.
©
<e> < < <
ocee
(o P P o P P (<
Secosesasacase
> e» < = >
> > >
P P P P (< (< )
OO e OO 0E0e0a0
Heu Heu ><e><e>< >
e» 46» 46» 46 > > = 46
Secece; (=

)

=
oS
=
SE0sE20!
osess
Heu > e
62029

)

>
=< ><( <e>
L
»46»4 P>
<

ee
> 49» <{
=

>

:
E=a -
s
e

>

Soces
Socese
<e> <e> <e> < <
S0ce=0
)> <®> 16’ <®> <®> <
ececade
eecoe
Soc =0
P P P P (5 (< )
O 0O as e e 0a0,
O
< <

><

)

>

SO e 00000
e sococesas0s0.

S esosteasasase

SR

S0c0
<

P>

- =
< S
sgoce=e
eseces
<) <e. (<) e
agece
< (= ()
eseces
<) <e. <e> 46
eSoe

>
N

> 4@» <
)
= 49» <
>

>

P>

46 < = < <
SOc0c0-e=a28
<o o P o o P (<
SR
>
.

>
>

:
esese
Soces
e

02920,
> <e> <e> <{
<{ >
=

>
>

)

>

)
Heu
OSeE0S
O
> >

P>

)~

)

A A A
<

OSes0=08
SOE0S0:9
> < < >

= = = =
e e e osesas0.
> <e> <e> <e> <e> <e> <e> <®>
e. (=< ) 46. 49. (<) <e. 49. <
(5 P (= o o< (o
e e e osesas0.
P> > > >

OO SE 00
RIS
)

>
eI s 0 O
- e’ - e’

Sesose
OO0

< % <

S 0Ees0c0- 0508

Heu Heu He. 48.4 >
< < < <

s esostca=acase

P~ P OO (< 3
;

> > = > P>

OSeE0-08
SOSSE280,
> < >

e» > = =
e e e osesas0.
S0 eseeasaso;
< > <
> > > > >

ec0;
Socese
SR
S
Socece
e es050,
Soce=0
S
(o P <o (= S
)
= < > > >

<
e’ =\
> 49»

> < P>
N 49. < <e. > 46. <e. (<)
s esostea=acase
o esogoee=ase:
)

P <{
o2ec0s0:
ecoc08

> >
< <

OSeE0=08
SOE0S0:9
> < < >

= P> = P>
e e e osesas0.
> <e> <e> <e> <e> <e> <e> <®>
e. (<) 46. 49. (<) <e. 49. <
(5 o (= o o< (o
S S s
)

>

)~

<{ P
> <e> <e> <e> <e> <e> <e> <e>
e 0eteeses0s0.
P OO0
‘

26
S

a8
= <e>

26

(<

Seseses
OSCE0E0
Sososes
&)

csoges
P P <o (=
s

> < > <

>
OSSES
- e’

= < =
P P o O (< )
O 0o es e 0e0,
Heu Heu ><e><e>< >
s esostea=acase.
Socesesesacecss
)

P <{
o200s0:
ecoc08

>
<

oS00
0SS
4

P P
e e oeeses 000,
S B0t e e :
S esosteesasase
P~ P OO (< 3
e e Pe0c0e0
I o (P o e )
egocesesasasocs
P> P> P> = <e> <e> <

Y

sEososeSeSese

A A A A
CoeecTeeseces
O e oees o000,
Soce-esosas0.

Oecesasas0es
SR
2000
<

>

=
ece
Seecaces
Secesa-ecesesas
—~( >~ e> <®> 46

< > < > > > =
eesases
> <e> <e> <e> <®>
e. (<) <e. 49. <
S0c0c050
eesases
20802050
e. (<) <e. 49.

< < <

SOS0EceeEec0s0,
OO0 0S050
esosecosecace

(St
Sosoces
4

e :
> 46. <e. <
Secesosacos
« : agocesasese
SO e e 00005050,
e. (<) 46. 49. (<) <e. 49. <
< (=)~ (= (< ) G (o (< )>
P~ <) < P = ()
> <e> > e»
(< )~(<) (< (<)
(<
ecescges
co-e0c0,
> > > =
SR
> <e> <e> <e> <®>
e. (<) <e. 49. <
esecesas
egecesacese
OE0c0=0:0 <
N 49. < e. <e. g; <
e esesaca=acase
P~ P OO (<
;
> > = > P>

>
=
020260
SCoes a0
(<) <e> <e> <
cooce o
occ2ece
= S
e2s8esose
coocegocs:;
oS8
Sooee 0
oce2e=0
e oaceo
eco
< =
cooce 0
Scfocsge
e> (<) <e> <e>
020260
ceocegoce
o)

=
ee

o

‘
Se=050
esose:
> <e> 16
=

< < >
S
< = (< )

<e> <e> <e> >

A A
>

<{ P>
> 46. <e. <
S
egecese
e 0E0:
eece=a
SR

=%
> <e>
<

csesoss
SRR

S0se=050,

S

egece=e
(=3

>
e

< <
(< P> )>
(o P < 3
< <

Oe0S0S0:
Sesesese
GG = =< )>

o4

o

=%
> <e>
<

>
<

Eeoc0s
SR
< = > <

P
Se=os0s8
S eee=a;
acesese

SOE08
CeSe

<{ > P = |
=)
~

¥ ) x

A

A
e eecates
)
> <
)

o

eees
202026
= = 46» 49»
s
S
)
> >

«

o4

28

SRR
SE0:00

SR
egecese

SRS
)

o8
cece
eses
Socese

=
> ’46

=

o

=)

esacecas
602850
esaceses
< P (< )
= es

¥

6
5
=
=

o

o

8
o6
058
=
ege
8
e
o8
=
S

>

)

D=

esesase

e eEococ0s 250

eSece-esas0c0e0

e esostcesase
agececed
>
<{ <{ <{

=
=
2020
= »
eeesosacesase
O e 0E0c0: 08

)
4

)
>

o

<{ <{ P> <{
N e. > 46. <e. (<) 46. 49
eSecesasasase:.
eeesesacecace
)

< <
OSOE0=050
(S

oS
=)

A
>
>

4
= <e> <e> <e> <
esecase
> < < >
£
e» = <( = <
46 <e. (<) 48. <e. (<) 48.
o0 e o0 es0:
P P o S S P )
esegose
= 49» 46» 46» < >
oS
es

o4

< >

O a0 0a0,
49» > e»

6’9

eees
ecese
> <e> <e>
=

>
>
<
02822
»49»46»4
<

S8e0!
s

e <{ <{ P> <(
e. > 46. <e. (=< ) 46. 49
e acoce-asa:
I = <e> <e>
SO e 00000
e esococo- s

eSecesasase:
esese
> <e> <e>

P>

>
>

4
= <e> <e> <e> <(
6E0c0:0
> < < >
=
e» = < = <
46 49. (<) <e. 49. (<) <e.
S0 esasasa:
S OEeE0ses02050

>
<

e es050,
eeese
os

ese
e>< >
>

D=0
26

:
=
oce
S6=c2e
es
e P> <e> <e> <(
coege
6» < =
20!
=

¥

A A A A
< <

>
‘e’ ‘e
>

<
OEecac0cos
SOSOs058eD
eee-ocos
Seseso=0
> P> >
Seseso=0
00008
> < >

o080
Sesesesese
(I

(> <
0SS
7 46’ 49’

ees0sese!

> <e> <e> <e> <e> <
%

< < < <

:

esesase
S
P> >

>
=

>
o
e e os0e0.
Socece-ases
e>< e
< > <

>
0SS
- e’

<{ <{
s oc0ses080s
e 0E0e050
)> 16’ <e> <®> 16’ <
Se-8s0e0
e

< <

OSeS02028
oSS o0
> < P> >

e 00000,

52

¥

A A
e oee e,
SO e o008
e Ococeas0:
eSccesesesoces
ecesoge
P> <e> <e> <e>

> > =

= e
egecese
05050,
)

4

A A
P> <e> 4@» <[ >
Oees e
= 49» 46» < >
e e
P> <e> 4@» <{ >
CE
(o o>
e g
= <e> 4@» <{ >
e. (<) 46.
(< (>

P>

OSesese
SCE0S058
< > »46

)~

= P> =
egecesadasace
O SO Oae Da0:
)
< <

)
oSeSes
oeece

eees
& oeas
(=)~ >
SRR
Soceca-aces
e P> >
< > < <

< > < >
S
=~
SRR
> <e> <e> < >
= <e> 46»
=~
S
49. (< (>
S
< (<

:

eosee:
49. 46. (>
< >

:
e esasosesase:
S0 esas0c0e0
e. (<) 46. <e. (<) 46. 49
esecesasasece
S esasose-ase:
P>
)

:

Seesosess

e Secesas0-0s0.
eSocesasesase

>
DY

oS
=
os
S0
eeese
»4@»4@»4
eees e
»49»4 P >
e e
»4@»4@»4
e>< S
»46»4
e as
»49»49»4
e>< He.
(< (>

e» > = > »e
SEtcococosace
> <e> <e> <e> <e> <e> <e> <e>
<{ > <{ > <
> > > > > >
< < (=)
e e eeaa0a0:;
49. (<) <e. 49. (<) <e. <
< (= (< )
Soce-a-ecaseses
)> <e> <e> <{ >
> > e» <e> 46»
=~
S
> <e> <e> < >
= <e> 46»
=~
oeesas
49. (o< (>
eesas
P> <e> 4@» <[ >
oees g
N 49. 46. (>
eeesas
=
0
>

;

esece

>~ <e> <e>
> <

P>

<{ <{ P>
< -
OO0 0S050c0
S es e e ocose:
ce
=c
eeesos0
SOSE0:;
> = 49»

)

P

<e> < < <e
e Oc0ce - as0:
e esosccocese

P>

‘
&2
eSesese
SCE0S058
< > »49

)~

= P> =
esecesasasace
O SO Oee0a0:
)
< <

> P
S0 0 e
Sce-esasoc0c0
e sasoce=ase:
Socesecedocececagaces
e» <e> <e> <e> <e> < >
> > > e» 46» <e e» <e> 46»
=~
SRR
> <e> <e> < >
> = 46»
=~
S
49. (o< (>
S
=~
S
49. 46. (>
S
P> <e> 4@» < >
S
= 49» 46» < >
> >

:

P <e
e e

= = 46» <

S esasose-ase:

O e 0E0c0: 08

)
< <

P>

P P P>
> <e> <e> <e> <e> <e> < <e
e e asas0c0!

S oEoaesooaea0e

o

)~

‘
OSOSes
Sesese.
cecece

< > < < <

S
egecesadasace
P> P> P>

>
(o
» (=

¥

A

&

(=3=4)

> 4@) <{ >

S

> 46} <{ >
> >

o
=
e
=

»4@»4
o8
»46»4
eees
G S~

|
oees e
= 49» 46» < >
e e
P> <e> 4@» <[ >
e. (<) 46.
(< (>
e as
> <e> <e> <{ >
I
(< (>

o

ese
»4@»4
8
»46»4
eees
(<>
)

radi us
rati o

0. 009997656470
100. 023440797844

density
cont acts

0. 883315852353
5627

[0 E. SpecHT
19- MAY- 2010



